
STA-01

53 421

              ASSEMBLY INSTRUCTION

Each contains

No.

9 x2

x2

7 x2

6

9 x2

x2

6

5

Assemble the 5 boards as step 3.

1

3

4

2

5

AS SHOWN:

Buckle one "A" and one "B"

on each side of  Part "7"

10 x4

9 10 11

As picture shown, when assembling each two sets,

 they are spaced 10mm apart.

8

Attention:

Each board bottom marked

number--1,2,3,4,5

from up to down

Buckle on one "A" and one "B" to the place as picture shown,

then slide down to fixed position after fasten.

ATTENTION: In case of damage to the buckle sets,

 take them down first when you want remove the bookshelf.

8

x2

x2 If assemble more sets,

Pls assemble one set first

then connect them by step 9 and 10.

BELOW STEPS FOR ASSEMBLING TWO OR MORE SETS

Picture QTY EXTRA

6

1

3

4

6

8 4

X 1

9

1

2

2

5

10

1

1

1

1

1

11

20 1

M6X16

M6X35

A

B

(Marked “1”at bottom)

(Marked “2”at bottom)

(Marked “3”at bottom)

(Marked “4”at bottom)

(Marked “5”at bottom)

8

7 2

8

1 112

1 113

1 114

Drill a hole in the wall that size as picture

shown, then install the Part 13 inside.

 ( Ignore the step if its a wooden wall）

13

7

Fix one side of Part

11 to installed Part

13 as picture.

!!!ATTENTION:

Pls install as Step 6/7/8 to make security

to prevent products fall down.

14

11

Carry the bookshelf to

close Part 11, then

install the other side of

Part 11 to the metal

insert where at the

bottom of Board 2.

12

M6X12

M4X25

13

No. Picture QTY

1


